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This paper is of sixty (60) marks containing three
(03) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.
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Note :
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Section ‘A’ contains four (04) long answer type
questions of fifteen (15) marks each. Learners are
required to answer two (02) questions only.
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1. What do you understand by International Business
Environment ? Explain the role of IBRD.
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What is Elasticity of Demand ? Discuss the methods of
its measurement.
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What is Equilibrium ? State equilibrium of industry in

short and long term.
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Discuss Keynes’ theory of employment. How does it
differ from full employment theory ?
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Note : Section ‘B’ contains eight (08) short answer type

e

questions of five (05) marks each. Learners are
required to answer four (04) questions only.
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Briefly discuss any four (04) of the following :
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1.

Disposable Income.
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2. Marginal Productivity Theory.
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3. Average Variable Cost.
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4. Substitution Effect.
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5. Law of Demand.
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6. Perfect Competition.
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7. IMF.
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8. Giffen Paradox.
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(Objective Type Questions) / (A& )

Note : Section ‘C’ contains ten (10) objective type
questions of one (01) mark each. All the questions
of this section are compulsory.
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1. Change is total cost as a result of a particular decision
is called :
(@ Marginal cost
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(b) Incremental cost

(c) Aggregate cost

(d) Average cost
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A rupee today is worth more than a rupee at a future
date. This principle is called as :

(a) Elasticity

(b) Equilibrium

(c) Discounting

(d) Interest

AN Th BUY B B 90 H TF JUY DI BT |
aftre 2| I8 RIgr 91 Hgand 8 ?

(@) i

(@ wger
() @e

o

() @

Return over and above opportunity cost is called as :
(@ Loss

(b) Alternative cost

(c) Demand

(d) Economic Profit
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Goods for which an increase in consumer’s income
results in an decrease in demand are called as :

(@) Giffen Goods

(b) Inferior Goods

(c) Both (a) and (b)

(d) None of the above
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The technical relationship between the quantity of

goods produced and the factors of production is called
as:

(@) Production function
(b) Technology

(c) Demand function
(d) Supply function

P.T.O.
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The cost incurred for replacing the same asset at
current price is called as :

(@) Alternative cost
(b) Marginal cost

(c) Replacement cost
(d) Normal cost
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GDP refers to :

(@ Growing Deveblopment Product
(b) Gross Development Price

(c) Gross Development Power

(d) Gross Domestic Product
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Average variable cost =
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TC = Total Cost, TFC = Total Fixed Cost, O = Output,

TVC = Total Variable Cost
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TC = §ol od, TFC = @l ReR NI, O = SIS,
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SDRs refers to :

(@) Special Development Regions
(b) Selected Development Regions
(c) Special Demand Regions

(d) Special Drawing Rights
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Money spent on advertisement and publicity for
pushing sale of product is called :

(@ Selling Cost

(b) Total Cost

(c) Both (a) and (b)

(d) None of the above
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